
SAP ABAP table REEXC_MEASUREMENT_UNIT {Unit of Measurement (T006)}

REEXC_MEASUREMENT_UNIT

MANDT [CLNT (3)]

DIMID [CHAR (6)]

ISOCODE [CHAR (3)]

TEMP_UNIT [UNIT (3)]

T000

MANDT [CLNT (3)]
 REEXC_MEASUREMENT_UNIT-MANDT = T000-MANDT 

0..N

1

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 REEXC_MEASUREMENT_UNIT-TEMP_UNIT = T006-MSEHI 
0..N

{0,1}

T006D

MANDT [CLNT (3)]

DIMID [CHAR (6)]

 REEXC_MEASUREMENT_UNIT-DIMID = T006D-DIMID 

0..N

1

T006I

CLIENT [CLNT (3)]

ISOCODE [CHAR (3)]

 REEXC_MEASUREMENT_UNIT-ISOCODE = T006I-ISOCODE 

0..N

{0,1}


